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. Yolve the initial value problem y"+4y'+3y=0,y(0) =1, y’(0) =0.
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dy _ X2 —2Xy + Y2
dx ~ x2-2xy+3y
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2. Solve the initial value problem

7, ¥(0) =2.




Name:

3. Find the general solution to x2y"+6xy'+4y=0.
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4. Solve the initial value problem y"+6y'+10y =06(t), y(0) = 1, y’(0) = 0.
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M\—o\/w 5. Find all solutions to y"+6y'+8y=40c0s(2x).
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NS
7 a\r&f 6. Solvethe |n|t|al value problem y'+(Xx+2)y'+2y=0, y(O) 1,y (0)=2.
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Z“AOAM 7. Solve the boundary value problem y"+4y =0, y(0) =0, y(z)=1.
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’D % 8. Solve the initial value problem 2a,.,-3a, ,+a,=0,a,=1,a; = 2.

E_al\ro.hd\f

Guess &W:yy\
QQVLH,—S ;\M(J—)A:O

13X+ | =0
(Q%—D/ﬁm\ =0

5513 l/z /

@\N-— (J ’JLC}

- m“Cl
ot
Go= ShrG = GGy = |
Set
%C, = -/
C, ==/
C) =3




Name:

9. What is y(1) if y(x) is the solution to d_z(/ =3y-10e*y*, y(0) = 1/8.

ol J | Lo :\/fj?;v“;"

M’&\i ’Bf ’37:0106?7“’ %?JV'%E[_V
M‘i&;?v\lb Q"‘é’ _H Q’l! - ’%:f/()ex\/'% 2
Tl KMWC SL-V; Jr—ﬁ\é - +30¢e”

SW\T:E\{; P Py éwg\}% Ae Vp " F}}a Z?Qe—;* o
. e \J = Cg@ e fr =3




Name:

2
10. m%+c%+ kx =0 is the equation for the motion of a spring-mass
system. Graph a possible set of locations of the poles of the Laplace

transform of x for each of the following situations.

(A) The spring is underdamped. T
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(B) The spring is overdamped.
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(C) The spring is critically damped.
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11. Approximate y(.3) using Euler’s method with step size 0.1 where
y'-y+xy=0, y(0)=1 y'(0)=1.
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2. Suppose a population of fish is modeled by the equation

See N3 d_F::_l_ooxlO‘S p®+9.06x1075 p? —7.20x107 p

csd lechure . d - . . . .
(This represents logistic growth with threshold with a carrying capacit
nstes fr Y2 ) b

of 8980 and a threshold of 80.2). What is the maximum amount you can
harvest from this population without driving it to extinction (the
maximum sustainable harvest)?

/\J%{'
Masimosm

§usbi\v~uLl¢
m Dn{) Houwuesy

©Y @

| P . 546 18060655 7 10 uI6” \[,\
L oo vests o sl s B - 1.00x0°p : |°

/)
(AAA«&\ ‘5\/\4@1:5 Q’Qﬁm Af/g\&_\rtw OV 2 (o\f\&% K?-f"l’s M H‘w(be_gl,ecl

Acvov\ g W, This Ts Sdfbv\“alok“@ langes yom 54.\\,\(7(5—5 e

vl sl byiowm, e ( _\&,\q. curve
{\’%ifw B U_DAO\; 1'&-\\1\1%:)4\\(\‘1:% £lU::@.v\ CJK/\EAMUQY&-'\\S & \Umi \Wax
Pf&)ﬂ& . [>]

A RA pehoeen Ko Rrredusld (61 and dha carty g capasiiy (3%6)

. 3 )
— Q3 - \._— ,’ZY\G éj\%e)w’l\o}b &é
Tos foed [oced WME ~14(67¢ +A.06%(6 7P ) 2, -~

- -3
sef 1= © ’Bxlﬁﬂ ) %\ZK\qu Y)( )
; Ay (26220007
_ ~|.91 x\b“‘d: J(-\mmo ) L((g }
&\)QAXJ"C FO(W\QKC\— E_

i

1(“3%(04‘\ (6.7 and
P= UD &R Lo66 e e S

- S L LOG6" +7.2 X]D 26O
M— &)—.@OOO, Q?:—\x\o",cooos +9.06 ¢ 10 xb T |

et ) Moe StenHe e

~—






